Year 2 All About Arrays

In our lesson foday we
will learn about
organising our pictures to
help us create arrays. This
will help us work out our
mulfiplication sentences.

Maths: Wednesday 03.02.21

TODAVSTEARNING



Revision

72 - 47=
85 - 58 — dgeO;eZ\OT%e

moment

76 - 25 — and answer
this

50 4+ 54 chollingg
questions
+ 34 =100
S
XOK0
S AV
o293
e Fne 0
5\‘:\)\26 \%\NC()E\ 4 | have 45p.
N 30@ | only have 5p coins.

o How many coins do | have?



Equal Groups

e

There are 5 groups with the same amount in each group.
They are equal groups.
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Equal Groups

e

5x3=15

There are 5 groups with the same amount in each group.
They are equal groups.
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[Multipication

Repeated Addition

3+ 3 + 3 + 3 + 3

Adding the same number again and again.
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Repeated Addition

5x3=15
3+ 3 + 3 + 3 + 3

Adding the same number again and again.
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Multiplication Symbol

&

We use this symbol show we are multiplying
(adding equal groups of numbers).
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Multiply

To add equal groups of numbers.
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5x3=15

There are 5 lots of 3s.
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Lots Of..

There are 5 lots of 3s.
This helps us write a our multiplication sentence.
5 lots of 3 is the same as 5 x 3
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Arrays are objects or shapes in rows and columns.
They help us to multiply.
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Commutative Law

When you multiply numbers, you will get the same
answer when you swap them around.

5x3=15
3x5=15
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Recap

This is the multiplication symbol. It means:
Lots of
Groups of
Multiplies by
Times
All these are ways of saying the same
thing.




Recap

How many strawberriese

Qa8 a8 g%

a% g%
5 lots of 2
or

5x2=10




Explore

‘ To make our strawberries easier to
v Q/ count we could place them in rows.
When we do this we call it an array. An

array can help us to count objects

Q_‘/ ( ‘ ‘ more efficiently.

Rows go across

ﬁ Columns go up

and down

| have arranged my strawberries into 5
rows of 2. That is the same as 5 lots of 2
or 5 x 2.




Explore

We can arrange the strawberries in more than one
waye

2 lots of 5
2X5

@ & Slotsof 2
St ol S X 2

Talk to your grown up about what you
see.



Explore

We can arrange the strawberries in more than one
waye

2 lots of 5
2X5

g & 5Slots of 2
5 X2

When you are working out your array think
about the rows first. How many rows are theree¢
How many objects in each row?e



Explore
We can represent the strawberries with dots or counters.

There are 5 rows of 2.
There are 5 lots of 2
5x2

5x2=2x5

There are 2 rows of 5.
There are 2 lots of 5
2x5




Explore
We can represent the strawberries with dots or counters.

You might find it helpful to write
the repeated addition to check
you have written the correct
array. Look at the picture to see
what | have done.




Can you write multiplications for these arrayse




Guided Practice
Can you write multiplications for these arrayse

When you are
..‘ working out
. . ‘ your array
think about the
”‘ rows first. How
many rows are
..‘ theree How
many objects

IN each row.




Guided Practice
What do you notice about the arrayse

3x4=4x3




Guided Practice
How can | find the totals for these 2 arrayse

Do you think the totals will be the
same or differente Talk to your grown

up.




Guided Practice
How can | find the totals for these 2 arrayse

To find the totals, | just
count the counters in
the arrays. In this case
there are 12 counters.
Both arrays are the
same, just in different
positions, so the totals
must be the same.
Let’s find out more
about this.




What multiplications do these arrays showe




Explore
What multiplications do these arrays show?e

.‘ To find the
total for each

00 000000 i
just count the

00 000000 -

z 6 X2 =12
2x6=12




Explore

When you multiply o .
numbers, you will get the VISUGI MOdeI‘
same answer when you Commutative Property
swap them around. 8x2 2x8
8x2=16 i
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We say that 2 groups of 8:=16
multiplications are
commutative.
8 groups of 2:=16




Let’s take it further

3x 4=
4x3= 12




What do you notice about the arrayse
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Guided Practice

X
X

Write two
multiplications
for this arrays.
Work out the

total.




Guided Practice

X 4 =20
X 20

| have 5 rows of 4
counters.
Thatis 5 x 4
| have 4 columns of 5
counters. That is 4 x5
There are 20 counters in
each array.




Independent Practice

Reading arrays

Show the totadl
Write the two multiplication facts to go with each array. for each

multiplication.




If you're finding things a bit tricky.. ..

Directions: Write a multiplication sentence for €ach array.
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Try something a bit harder.

Reading arrays

Write the two multiplication facts to go with each array.

00000 00000000 0000000 000000000
00000 00000000 0000000 000000000
00000 00000000 0000000 000000000
00000 00000000 0000000 000000000
00000
00000
00000
44444 4444+ 44444 Challenge
000000 00000 000000 Draw one
gsess  gEEss ssaa
000000 00000 000000 more array
Show the fofal S55888  Sssss  sessss foshow 1
ow ihe 101d 00000 000000 11. What
for each o66000 else does it

multiplication. show?



Exit task — Dong Nao Jin

Mrs Riley wants to plant 18 flowers in her garden
She wants to plant them in equal rows.

Draw the different ways she could plant the flowers
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Reading arrays (mild)

444~
000000
000000 ::::: 00000000 0000
000000 44944 00000000 0000
000000 LA Al
4x6=24 3x5=15 2x8=16 5x4=20
b6x4=24 5x3=15 8x2=16 4x5 =20
0000000 0000000000
0000000 ::::::::: 0000000000
0000000 0000000000
3Ix7 =21 2x9=18 3x10=30
7x3 =21 9x2=18 10 x 3 = 30
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0000 3x6=18 6x3=18




Reading arrays (hot)

0000
0000
0000 QQ
990
0000 OO o
0000 ~~ 00
.‘.‘ non x ™
X
0000 mm wé
0000
o
0000 0000000000
0000000000
0000000000
0000000000
0000000000
0000 0000000000
0000
0000 ..
00ee
N
I
<~
.00.0.0.0,:5
000000000 - -
000000000 !
O...Q.0.0,nm
””.. OOQQQQQQQoéJ
o0
0000
0000 . .
0000 ﬂﬂ
0000
0000 @ < 00000000
X X
0000 - o 00000000 © o
00000000 <<
00000000
00000000 ww
00000000
..0....,35
0000000 -~
0000000 |
0000000 1~

X X
0000000

1MTx1=11

A
/
o000 00OOOOS

11

Challenge

1x11

[(




e -

I ,..-»..I.‘

—
{

Arrays for 18




